KURYAKYNU¢

INSTALLATION INSTRUCTIONS
PIPE WRENCH FORK MOUNTS FOR CUSTOM LIGHTS

2579 CHROME, 2580 SATIN BLACK
THANK YOU FOR CHOOSING KURYAKYN!

Protect yourself and others from possible injury and property damage or loss. Pay close attention to all instructions, warnings, cautions, and notices regarding the installation, use, and care of this product.

A WARNING

A CAUTION

NOTICE

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR SERIOUS INJURY.

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN RESULT IN MINOR OR MODERATE POTENTIAL INJURY.

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN MAY NEGATIVELY AFFECT PRODUCT PERFORMANCE AND FUNCTIONALITY OR

DAMAGE THE PRODUCT ITSELF OR THE PRODUCT TO WHICH IT IS BEING ATTACHED.

ENSURE THAT THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT:

Front Mount 1 Hardware Kit, containing:

Rear Mount 2 1/4-20x 1" Socket Head Cap Screws
Mount Insert 49mm 2 1/4-20x.625" Socket Head Cap Screws
Mount Insert 41mm 2 1/47-20X 3/8” Set Screw

Mount Insert 39mm

YOU WILL ALSO NEED:

Hex wrench set

NOTICE

STEP 1

STEP 2

STEP 3

STEP 4

STEP 5

THESE INSTALLATION INSTRUCTIONS CONTAIN IMPORTANT INFORMATION. ENSURE THE END USER RECEIVES THIS COPY AND IS AWARE

OF ITS IMPORTANCE FOR FUTURE USE.

Read and understand all steps in the instructions before starting the
installation. Park the motorcycle on a hard, level surface and turn off
the ignition. Let motorcycle cool.

Locate provided one (1) Front Mount, one (1) Rear Mount, one (1) of
each Mount Inserts, and one (1) of each Socket Head Cap Screw. Test
fit what insert and socket head cap screw will work best for your fork
mount application.

Refer to PIC 2 and 3. Once insert and hardware has been determined,
loosely fasten the Front Mount, Mount Insert, and Rear Mount together
using the Socket Head Cap Screw.

Refer to PIC 3. Locate sold separately light with M8 threaded stud.
Fasten the light to the Rear Mount and secure it in place using the
provided Set Screw.

Refer to PIC 4 through 6. With the loosely assembled mounts, align

and place the rear mount on the back side of the fork, hooking the front
mount and insert around the side. Slide the Front Mount into position
over the front of the fork, be sure the insert is properly aligned in
between both mounts.

FRONT | PIC 1
& MOUNTS — A |
A L 1/4-20 X .625”
SHCS
s REAR i 1 | .
“  MOUNTS — 1/820% 17 SET
/ SHCS SCREWS
39MM 41MM

49MM

W | AJd an

P PIC 2 PIC 3

% FRONT MOUNT }
L INSERT J
, T % REAR MOUNT v
-— f:--r.':]'rr- W o

I SET t SHCS
SCREW L

PIC 4



https://www.motorcycleid.com/kuryakyn/

KURYAKYNU¢

INSTALLATION INSTRUCTIONS

PIPE WRENCH FORK MOUNTS FOR CUSTOM LIGHTS
-CONTINUED-

STEP 6 Refer to PIC 7. Adjust the mount assembly to desired position. Fully
tighten hardware to secure the mount assembly in place.

STEP 7 Repeat steps 3 through 6 for the opposite side.

STEP 8 Install the lights per the instructions provided with them.

ENSURE THAT THE INSTALLATION OF THIS PRODUCT DOES NOT
INTERFERE WITH THE PROPER OPERATION OF THE MOTORCYCLE

BEFORE RIDING.

NOTICE IT IS THE INSTALLER'S RESPONSIBILITY TO ENSURE THAT ALL OF THE
FASTENERS (INCLUDING PRE-ASSEMBLED) ARE TIGHTENED BEFORE
OPERATION OF THE MOTORCYCLE. KURYAKYN WILL NOT PROVIDE
WARRANTY COVERAGE ON PRODUCTS OR COMPONENTS LOST DUE
TO IMPROPER INSTALLATION OR LACK OF MAINTENANCE. PERIODIC
INSPECTION AND MAINTENANCE ARE REQUIRED ON ALL FASTENERS.

Learn more about motorcycle accessories on our website.


https://www.motorcycleid.com/accessories.html

